KX THXERIERRE KEX

#5R :1/2,500

N

(

Z
L
2

% = ‘\“

e

N

y

BRERDERE | 2ENMOHE
HIBFEES  [132482A661101006
EIRE= FIRAE
Fr7E i E T RETE)

L VIEd
i & #R:1/50,000

T
= g t

q_;’. i I 4 B ) &H,l..)\‘/\ = i Hml
X DR L, E 1 thIERR O ${E# K 50000 GhRE]) ZERL-HD THH.

r IMKERIERRE (BMPRERSES) —

BE=L B NP 100N/ MEE % B K
T eEEsemERABRS

[ zhwiors

1B R R i (F FR<

TEFEDNHOREESDRT

[TRFEDHDODRESS—ERIZE

1/ 2

ERE




TEFONODREE—E

EFE35)) BARRDIELE |(AERHOHRE
DR ELOERA SNF-RERAORKEZRLTILNS, e — —
(A) BEI= LB NH100N/MiZEBZZREBDBED 51 DB AIERN/ ) (E) B MImERZ DRI DHERED H DBAIBERN/ 1) 2 SRuEARERENSTOR=ERT S lilk AAaE
< mzEA ERNIE m B =\ 3m e A ENIE m - 5 - | L) EE4m7rd — .
B) WA LERENI AT SBEOLEEDBSMm) () DA LHREN(AERT 5580 LEE DBEm) %;ﬁ%gﬁgﬁ_égfQi'gﬂt;%ﬁffﬁ?ﬁ Tt A R ATE )|
(C) BEN=L B AA100kN/m LT DR BDFHEEND N DB AIEKRN/n) (G) HHEBAIMUT DR O HIED A O RATERN/M) ENBRGSE LSRR ERBBAICRAS
(D) C)NLZEEYIERTIBENDTREENEE(m) (H) Q)P LZEEYIERTIEANTREDEE(m) DRERERAENSEETHIENTESD,
HETHITEDEIREEDHDOAES SIEMMADTREDHDAES
RAES % =
(A) (B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)
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